WA - 2018/5/12 FHRE TR B
B4 5 2RI X P s e R R e s
R Zd TRy T R R FLER AT KB %=
F R[4 Fag T R LR e e 4 TRy T R LB e
B pgs LA 251 RYITA ApE 5L 6{ir L 8L
swwm 7l snza | 200m NI 16 22.99 (+0O.D|AE FEHHQ) 23.33 (+0.N| K&K BE(3) 24.46 (+0.7)| L BAER(3) 2453 (+0.7)|/EiE =HIE(2) 24.67 (+0.7)| #4815 %K) 24.95 (+1.6)|7Kk & F1EQ) 2501 (+0.7)| K& ®B=(3) 25.19 (+1.6)
AU - SR A R R FHIE - B o - E—rh FHIE - - E=h FAUE - SR A R FHIE - B s E =k
sa12a | 400m R f23) 54.29|E#E fEL@) 56.51|FF KMQ) 57.43|7tH FHh(3) 58.78|dLIR B4 Q) 59.05|% 8k thx(1) 1:14.98
- gEHV A - E—h - E=rh - E—h FEE - B L G- E—rh
siza | soom HE KHAQ) 2:2048( K& BAQ) 2:2327|H £(3) 2:24. 80| AR 1RAE®) 2:24.95(7F% FEQ) 2:25.84| 1L &F0(2) 2:28.77(/MI FELM3) 2:29.06|;E:8 BA(2) 2:33.14
Hag-E=h FHIE - Bl a1l HHE - BRFE s - BRiEch HaE-E=rh - E=h - BRFE R
sitza | 1500m A BEKRQ) 4:27.26|/MEE K$H(3) 4:29.56|fTER ZRIE(2) 4:44 82|88 HIK(2) 4:46.21|EH £(3) 4:4847|KRF  BRE®R) 4:57.98(;EA HEQ) 4579988 MR 4:59.18
- R g = FEE - B FHIE - FA R FEE - Tl - B ch FHIE - B o - BRFE R
sitza | 3000m A BERQ) 9:37.31|/ B K$H(3) 9:59.14| P8R ZRHB(2) 10:15.72|88 8 HIK(2) 10:21.41|hNi%E  MFEQ) 11:19.01
- R g = FEE - B FHIE - FA R -
satza | 1iomn BH HEQ 16.05 (+0.8)[i4 fB(3) 17.62 (+0.8)[#EAR RAQ) 17.81 (+0.8)[ &1l #411(2) 20.95 (+0.8)| B IFF RK(2) 21.03 (+0.8)|MHE &&HQ) 24.16 (+0.8)
- gEHV A - E=h FEE - SR AN R FHIE - B L HAIE - AR T (eh) FEE - FA R
I - A 47.12| 1815 - BRHBA 48.44| 1Al - FEAN R ARA 49.13 [ XI3H - X 3B e 49.16| A% -t /R o 49.98(al%-E=rPA 50.22 | #4155 - HAUEFE ch Z5(ch) 50.78| 415 - SE AV B 51.95
A+E ) TH BE®S) A B5Q) BHE AR HBE K HE KHEG) =% REQ) hE K&
5H12H | 4x100mR | L BAEE(3) Ke FE®Q) LA #HE/RE) A EAR) HH EBERKQ) mE REQ Xz X2 BH BEQ
w2 BHQ) &0 FR@A) FiTT I P NE)) iigE TREO) BRE S¥E@Q) AR HEQ) EE ANFEG) RE E=f31)
HHE H—02) ANE BE®O) E#E BEQ) =hE JLHE®) A REE) i ORB(3) Bl RX(Q2) il R#&Q)
satzn | sk #H KZ@Q) 1.70[34 HB(3) 1.65|HHE B|EEQ) 1.60(#&E BEHQ2) 1.45|%f1L #4E(2) 1.20[4% 0 K@) 1.15
L#-ENES - FE=rh AU - 4R R Li#g-EINR S A% - AU - E R
ifgE TAR®G) 3.50| M@ IEAG) 3.30|RER FETR(2) 3.20| &L EQ) 3.10
sHizn | rese N3 - X 33 e XI5 - ) 3 A I3 - X 3 eh XI5 ) 3 e
[+ 3(2) 3.10
- E=h
sAtzE | i w2 BHQ) 5.89 (+0.3)|fifE =#h(2) 5.62 (-0.9)|HF BEQ2) 5.02 (+0.3)| & &R Hi(2) 474 (+0.9)|lLiF B mR(1) 4.63 (+0.6)|FAJII R#H(2) 459 (+0.1)| =8 KEEQ2) 4.44 (-0.8)|FHE E:E(2) 4.36 (+0.1)
- E =t s -FE - E =t s - EHiE S FAU5 - BRfE 5 - BFE R I - FAUS R T () - E =tk
stz | mae KE @A) 9.03| %5 Kih(3) 8.55|FiZF Eh(2) 843|FE #IZEQ) 8.30[/h ¥k IZZEM) 8.23|IUA FHR(3) 8.09|FH #®AQ) 7.38| L H HEH#Q) 7.01
- E R HEE - AR a6 1L s - BRFE LIRS UG- SRR R HAUE - AR H-E=h
A FEA1) 13.67 (+0.7)|Hi5 —E() 13.77 (+0.8)|3&:#E 153H(1) 13.78 (+0.9)|IREF Z#&(1) 13.89 (+0.8) AR B 13.98 (+0.9)( LKy EmR(1) 14.02 (+0.9)|FEA FEKX(O) 14.15 (+0.9)
veny lsnea | 100m - E R HaIE - R s -E o A - SR R R s -Eoh R - B fE ch - E—h
®F B 13.89 (+0.9)
FHIE - FRUS N R ()
saten | 1500m RE EfE1) 5:25.69(1&iE &2(1) 5:36.25| & K&E() 5:37.15| B H B&(1) 5:39.87|#E  #rik(1) 5:41.43| 1L Z&(1) 5:43.66(&F FEEK(1) 5:4549|HE  KFZ() 5:57.77
s - gEHV Al -FE s - gEHV R - Eoh FEE - SR AN R - E—h U5 - FUE RS th () U - QISR th ()
EE RIEQ) 1212 (+0.9)| KB EX(2) 12.20 (+0.8) NI T#ERQ2) 12.28 (+0.8)[&H@A F—(2) 12.39 (+0.8)| Al SEH(2) 12.45 (+0.8)|#f1L R#E(2) 12.56 (+0.8)[ LA FHEE(2) 13.02 (+0.8)
ot |sa126 | 100m - E=h U5 - FUB R h () HaE-E—rh Has-E =t s -Eoh FEIE - SR A A R 5 - B FE
HH BEZER0) 12.20 (+0.8)
FEE - MR
B fELG) 1151 (+0.4)|AZE FEH(Q) 11.69 (+0.4)| 1L BA% Q) 11.96 (+0.4)|k& FIEQR) 12.07 (+0.4) =fE JiE®R) 1219 (+0.4)| K& BEHQ) 1220 (+0.4)|E+iE Q) 12.22 (+0.4)
357 | 5126 | 100m - E—rh FHIE - B o Ha-E - R PUPEEUBSL - E—h HaE-E
ek S {6)) 12.07 (+0.4)
FHIE - SE AV R

w (wind assist) : 1BJAZ S




WA - 2018/5/12 FHRE TR B
B4 5 2RI X P s e R R e s
R Zd TRy T R R FLER AT KB %=
F R[4 Fag T R LR e e 4 TRy T R LB e
B fF fag IEVA 2051 3fr A VA 6{3r Tr 84r
smier | satza | 200m NF HEAE) 27.63 (+1.7)|ILE B4 (2) 27.73 (H1.D|/NE BLE(Q) 29.03 (H1.D|EBE B2 30.05 (+0.5)|fAIER ZpY(2) 3047 (+0.5)|®KE EiE2) 31.28 (+0.5)|fEE EH(1) 31.39 (+0.5)|@H EBH(1) 33.49 (+0.1)
- - FE=h L#-HENES FHIE - FEIE - T L A - - E=h s - BRFE
sa12a | soom VNP2 16)) 2:32.74( %4y EE2R(2) 2:33.62| X% Zx(2) 2:35.381RE RBUTE) 2:35.40|#f1L EMA3) 2:35.84 (B8 #E(3) 2:38.59(J11EF HF1(1) 2:42. 44\ FrE EZEMQ) 2:43.24
s - ERfE IS - FEE Hals-E - E = FHIE - B o a5 -F - E=h PUEPRPUESLES
sa120 | 1500m VNP2 (16)) 5:04.52|FTy FEZR(2) 5:06.66|7TH SEFEH(3) 5:28.95| /1187 HF1(1) 5:30.92| B8l #p3E(3) 5:31.95;FK SEZH(3) 5:32.00|iE& #A©) 5:36.30| =18 15Z5(3) 5:43.63
U5 - IR R - ERFEA PUBSERUPSES - E = I - U - QIR R () a5 - BRFE -
sA128 | 100mm BT EEQ) 16.36 (+1.1)[K 1L EEQ) 1811 F1L.DkH #EFQ2) 20.10 (+1.1)
Hag-E=h FHIE - Bl - E=rh
G- E=hA 53.01(4ai%-E — A 54.66| 815 - FE LA 55.32|HHIE - SR AV A 55.87 A% - P 56.90 | #8115 - B fE b 58.44 (- X F A 58.51 | #HI5 - S AV B 58.93
BB EA®) INEFE EHE(1) FIER SKpY)(2) INE REQ) KA EEQ) 1k Q) IR EE®Q) FIER i)
5A12H | 4x100mR |B& T E(3) #HE HAEG) B Z%£0) Al HAF@Q) JUF HMEA®) L #@G) RiE EIRQ) 1 -730)
IWE #H&@) N TE6)) Kl #EEQ) ¥R EX0) #FEH UHBE) R ERQ) il #A®G) BRER EHRR(1)
EE FiE0Q) X Z%0) A EKEO) L EI6) L)) Z G IEZ(A6) T EXHEEB) miE AR
O E— 1k Q) 1.20|BK 482 1.15
s - HFE FHIE - F
. ZEF hDAQ) 250[iE7% ZhN(2) 240|885 K FLR(2) 240|@mHE %) 2.40[#&1L #A®) 2.40
5H12H | #Hembk
N3 - X 3 e XI5 - ) 3 e I - AR FEIG - AR XIJ33 - X 33 e
sA12n | ek BE EA®Q) 478 (+1.2)[&N #H<F@3) 471 (-1.9)|F1H HEK(Q) 442 (-0.3)|RZE EE®) 441 (F0MD|EHAR BFZXQ) 419 (+1.1)|{EE 2 416 (+0.2)[ILA BETHEE(2) 3.74 (+0.6)|BHE #E(1) 3.39 (+1.2)
HE-E=rh FEIE - SE AV R - 7 1L PUBREPUPS LS R -F AU - - FE=rh A -
sAtzn | e A E0) 7.94|/ML BEZ(2) 7.69|FYE K@) T13|#H HLHEQ) 6.71|FEF UHNB0) 6.68|3H FEE(©2) 6.59|NHE HEFEQO) 6.40
a5 - HIB R th S () FHIE - 781U Ha-E HaG-E A% - R op a7 1L G- —h
sz | s EE T 1739| L4 #&(3) 1346
HE-E=rh IS - B
57128 | 100mH 18.29 (+1.1) 19.57 (+1.1)
5H12H | £EmBk 1.40 1.25
5128 | i 6.40 6.50
5A12H | 200m 30.16 (+0.8) 32.11 (+0.8)
veset | saen | 1oom INGE BIEN) 1417 F1L.7)| B8R B 4(1) 14.61 (+1.0)|#F3E BAZL(1) 14.62 (+1.0)| S48 HE(0) 14.73 (+1.6)[ARED FRRR(1) 15.18 (+1.2)| 5 H ZEHE(1) 15.33 +1.7)|[$EO EFO) 15.35 (+1.0)| &+ KRFE®) 15.36 (+1.7)
HE-E = h G- FE=rh s - AV A - PR - SR AN R FAUE - HA R HAUE - AR HAE - SRR R
ot | 5128 100m ILE #&(2) 1320 (+1.8)| =BT MHBEZ(Q2) 13.79 (+1.8)[/h#k KE(2) 13.89 (+1.8)|#iK FLR(2) 1439 (+1.8)[3kRO ZFi(2) w1441 (+2.8)|KH EiE©2) 14.54 (+1.8)|FTER 2P L)(2) 1459 (+1.8)|ihfE EF(2) w14.73 (+2.8)
HE-E=rh FHIE - s - AV FAUE - HAE NI - M eh - R a5 - # Lo - E =t
st | srza | 100m #HE Z3£0) 13.31 (+1.3)[BTF E(Q) 13.46 (+1.3)|JIIR MEE() 13.65 (+1.3)|#EE FEAW) 1379 H1.3)|/NE FEEQ) 13.84 (+1.3)[#@ FE@) 13.89 (+1.3)|F0E ZEBX(3) 1391 (+0.6)|iZA FIZE(Q) 14.00 (+0.6)
a6 1L G- E=ch R - B A Hag-E=rh ¥ ENESR AU - SRR R a5 - # Lo - E =t
ves s [sa1za | 1oom B R0 20.34 (+1.1)|% 0O =K1 20.50 (+1.1)
Hg-E=rh FEIE - FRUS R R ()

w (wind assist) : IBJEZE




